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FREE HMMARFOE=SIUTRERR (K MBR)

e
BESS
X 4 5= NEA FR7EHh BIER 50cm
RKXE | T8 e
7% 1 HEKXEAE [REETZTH9-4| R3.4.16 0.08 0.07
7% 2 HHEDERAE (REETZTH9-7| R34.15 0.09 0.07
B 3 HA-TE&KB1S|HEMMZTH9-2| R34.16 0.09 0.08
7% 4 HEA-TH#&H2% | REBT T H9-3| R3.4.16 0.07 0.06
B 5 HA-TE&KH3S|HEBMZTH9-1| R3.4.16 0.08 0.08
7% 6 B/ NREEE | fRETHE/N109-5| R3.4.7 0.07 0.06
7% 7 ARREWE | FHETAR1-48 | R3.46 0.07 0.07
7%k 8 BHE AR [#EfrsR=TH-1| R3.4.15 0.07 0.07
UES 9 A RNE |[EEfrhe=TEI1-1| R3.4.15 0.08 0.07
VES 10 BEAE |/PMBREFEEET2] R34.12 0.08 0.06
B 11 TIESE—NE [SRECIE=THE27| R347 0.07 0.06
7% 12 IEFEZNE [SENIE—TH| R34.7 0.07 0.07
7% 13 o II/NES] £IUETEAE AT | R3.4.19 0.12 0.07
7% 14 £FF15AE |EBETEFF126-1| R3.4.16 0.09 0.07
7% 15 £ FF25NE |HEETEFF128-1| R3.4.16 0.07 0.06
7% 16 £ FFRE R | REASFF4-33| R3.4.16 0.08 0.07
7% 17 AR EEE SRR LR A175-18| R3.4.6 0.08 0.07
VES 18 db/tegE— R EEE | /N ERTIL/ 4832-4] R3.4.19 0.08 0.06
7% 19 Jo/tEE RE R |/NVERTIL/ #E33-19] R3.4.19 0.08 0.07
7% 20 TROEXE |FAE—TH20-1| R3.10.25 | 0.09 0.08
YIES 21 AR NES SRETEM1-11 | R3.46 0.08 0.07
7% 22 =7 T2AE |#HErE—TH9-1| R3.4.15 0.08 0.07
7% 23 HROENE [AE—THE1-11| R349 0.08 0.07
7% 24 BRENE |2%ErmiRERI-86| R3.4.6 0.06 0.06
7% 25 WREREWE|SLRTYRA116-1| R3.4.16 0.09 0.07
7% 26 U9 3R 45 R R B b B | 40 SR RTERREE25-5| R3.4.6 0.07 0.06
7% 27 J9iR RIFIRE HE| 2%ETmREE57-6| R3.4.6 0.08 0.08
7% 28 T/RIAE AIFBTEO-1 | R3.4.12 0.07 0.07
7% 29 R IR E 5B | R EATE ER41-13] R3.4.16 0.08 0.06
7% 30 BER&%E [ZAET€ILT1-3| R34.9 0.07 0.06
B S 31 BXE—/NE | 2%eraks/s30-9| R3.10.25 [  0.09 0.07
VB3 32 BXE=E |mkeraxs#/s30-202l R3.10.25 | 0.09 0.07
UUE S 33 BREZNE |mkeraxs/si0-201) R3.1025 |  0.10 0.09
VB3 34 B 4G |2kErEksk 30203 R3.10.25 |  0.08 0.07
7% 35 BoE BT — T H16-1| R3.4.15 0.08 0.07
VES 36 =SRAE  |[{E#ET—TH5-1| R3.4.15 0.08 0.07
7% 37 MrpfENE  |EHET=THE13-1| R3.4.15 0.08 0.07
VES 38 18 NES) HEEETEEER1-1 | R3.4.12 0.07 0.06
7% 39 AREREREER|£LETARS131-8) R3.4.19 0.08 0.07
VES 40 FPTREWE [{-HE/TFFI23-15| R3.4.9 0.07 0.07
7% 41 B /{EIRE R | HEEETE /{E41-9| R3.4.12 0.07 0.07
7% 42 SEARERE| AT FEME52-9) R34.7 0.07 0.07
7% 43 FEE—2E |FEETARTE3-1| R34.12 0.07 0.06
7% 44 hEEZAE |FREET=THB2-1| R3.4.12 0.09 0.07
7% 45 il =T BB $8ETha =T B4-1| R3.4.7 0.09 0.07
7% 46 th0 P T B 22 E | $3ETchilm T B4-1| R3.4.7 0.08 0.07
7% 47 7)kEAHEAE |o%mEEE—TEs1| R3.4.6 0.07 0.07
7% 48 NEDOELER |7kETBREFRR| R3.4.6 0.08 0.07
7% 49 fRhR=TH/AE|METhR=THI13-1| R347 0.08 0.07
7% 50 SR - THAR|HETHR=-TH3-1| R347 0.08 0.07
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S
BESS
X 4 5= NEA AT #h BIER 50cm
RXE 1y e
UES 51 BERIRE R | AERETEEEF79-1| R3.10.25 |  0.09 0.08
7% 52 BERE L W E | BERET£ILT14-2| R3.4.9 0.08 0.07
7% 53 RNEAE |HEEETR/INE304-6| R3.4.12 0.07 0.07
% 54 EA/8—5 B£-TH52 | R349 0.08 0.07
7% 55 B H IR E N E | imRTE S E22-54| R3.4.12 0.07 0.07
7% 56 UOMLAE  |[HETE=TH9-1| R3.4.15 0.08 0.07
7% 57 mafi—TUAE| mEZTHE53 | R349 0.07 0.06
7% 58 meat—o)L | mE—TH40 | R3.1022| 0.12 0.10
7% 59 FEeRERE |£ILETEE61-33] R3.4.19 0.07 0.06
VES 60 HIET R E i8R | %k HETHIET22-8| R3.4.12 0.06 0.04
7% 61 Ry /=% BE&—TH39 | R3.1025| 0.09 0.07
VES 62 JAILRDYR [EEEZTHI1-20| R3.1025 | 0.10 0.09
= 63
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